
SAP ABAP table T5UCH {Benefit cost rule variant texts}

T5UCH

MANDT [CLNT (3)]

LANGU [LANG (1)]

BAREA [CHAR (2)]

BPLAN [CHAR (4)]

BCOST [CHAR (4)]

T000

MANDT [CLNT (3)] T5UCH-MANDT = T000-MANDT 
0..N

1

T002

SPRAS [LANG (1)] T5UCH-LANGU = T002-SPRAS 0..N

1
T5UB3

MANDT [CLNT (3)]

BAREA [CHAR (2)]

 T5UCH-BAREA = T5UB3-BAREA 
0..N1

T5UBA

MANDT [CLNT (3)]

BAREA [CHAR (2)]

BPLAN [CHAR (4)]

ENDDA [DATS (8)]

 T5UCH-BPLAN = T5UBA-BPLAN 

0..N

1

T5UBH

MANDT [CLNT (3)]

BAREA [CHAR (2)]

BPLAN [CHAR (4)]

BCOST [CHAR (4)]

 T5UCH-BCOST = T5UBH-BCOST 

0..N

1


